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Me: gl g B IO AT T ST I B AFTEAR T . (ii) SRR SMEd U
g, UF g a1 offvEad 30 i # R Him (iii) A T
Y% U9 2 37% B 8x2=16 (iv) G &

; 5 (i) What is 'Bin Card'.

for @€ & @ oned 7

(i) Vithat do you mean by 'Labour Turnover'?

‘s STE’ § AT F FEE &7

(iii) Write any two features of process costing.

ufsFar ST i B s Al [Eean i

(iv) Name any two methods of absorption of over head
cost.

Uy ARl & ALY B B & [AE & AW gaRa
(v) What do you mean by flexible Budget?

Arasfia soie 68 ®ed o7
(vi) Define standard costing.
T R TEie B R i
(vii) Give formula of current Ratio?
g AU B g
@) M.Com.-08 / 500 / 8 @
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Prepare a common size balance sheet with imaginery
figures.

PEAE FH B FEEA H Th FEAHR LS GO
it

Neha Ltd. has a current Ratio of 4.5:1 and a quick
ratio of 3:1. If its inventory is Rs. 72000. Find out its
current Assets and current liabilities.

Ser . 1 = STgU 4.5:1 ¥ T @Rd ST 3:1 2
% SEH W ®. 7200 & q TEH =G Hiwdt T A
R S Fm

Explain the four sources of cash flow in Short.

THE WAE F I A B A8 H §esEy

Manjula Ltd. produces and sells 20000 units at Rs. 20
per c_:z‘ The variable cost is Rs. 12 per unit and fixed
cost is Rs. 60000 per annum. Ascertain P/V Ratio &
B.E.P.

woge fo1. 20000 3FEA # IAET R 20 ®. 9y FHE
T f#pa F3dl 81 aRadasid are 12 &. 9y 298 © ol
®E @ 60000 &. A &1 AW AET SI{UN T

FReT Rg 51 Fifm 4
. (4)

Section-C
(Long Answer Questions)
gUs-q
(¥ It 7w)

Note: Answer any two questions. You have to delimit your

10.

it

answer maximum upto 500 words. Each question

carries 16 marks.
2x16=32
5t & sl B Su AT ST ST SE B STy
500 /=] 7 GRERT BT &1 TS HF 16 I H 2
- 2x16=32
Explain by giving suitable examples about the
following methods of pricing of the issue of materials:

SUgHR TEE 2 g el B i 3 qwies @

frfoRea feftedt & st & a9emEw
(i) FIFO (s s g Frtes)
(i) LIFO (it omre mem fefes)

What is meant by operating costing? In which
industries it used? Prepare a transport operating sheet

and discuss the various items included in it.



